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Topic:- GENERAL HINDI

1) “fIg W ad g fag s

o fog &4 B fafdr A«

SR <1 TS Ul ¥ e O | B A1 SIa e R Wad g 872
1. 3YUHI

2. Jffa=rifad

3. fayrar

4. >Udh

Correct Answer :-

GG

2) frafafeaa d @ e wreg & forg 1= a1 faeiw weg |81 32
1. 3HSd
2. 34d
3. 33T

4, 3Ydl

Correct Answer :-

o 3Ydl

3) forrept it 7y Uar &1 7 g 8 & fore yge 811 are U Wk 3|
1. ¥
2. 319Td ¥
3. 3(SIdTg


Lenovo
Stamp

Lenovo
Stamp


4. 3G

Correct Answer :-

4) - fou fawenl § A 18T BT Y& FU DI AT 82
1. gII&

2. gEISMaY

3. gAY

4. g8y

Correct Answer :-

- BT

5) <3 fpM™ T 39 Hera] &1 3 fFaffead fAea A @ S ard?
1. 9gd gfGH Al

2. gf& A B

3. TRIHTHAT QU g

4, YA qa T 3

Correct Answer :-

o Y HY H 3T

7) THEARTHE # U I & 9 § fog 79 &1 quiq fear man g2
1. Ufga g
2. YA 39



3. AT
4, QA

Correct Answer :-

8) U JaA JWHTHY, WG 7 YR I # &g BT 19 garsT|
1. 91T ©G

2. ARAT &q

3. 93 Bg

4. BT B4

Correct Answer :-

. RIS

9) ‘Remuneration’ W%m%ﬁwﬁaﬁamﬁwmmmaﬁl
1. 99 &7

2. UTRYTHEH

3. A BRI

4. TSTRT Ml

Correct Answer :-

. UIRYfHS

10) fa=fefaa # @ od &1 yufgarh v FT A1
1. HIOA
2. B

3.%0d
4. 3Ty

Correct Answer :-

Topic:- GENERAL ENGLISH



1) Choose the option that best expresses the meaning of the highlighted idiom/phrase:

The vice president of the company gave his subordinates a piece of his mind when the sales figures nosedived.
1. pitched in

2. counselled

3. reprimanded

4, advised

Correct Answer :-
e reprimanded

2) A sentence with an underlined word is given below. Choose the correct option which is closest in meaning to
the underlined word.

Why do you encroach on the liberty of others?
1. disengage

2. intrude

3. exonerate

4, extricate

Correct Answer :-
e intrude

3) Out of the following options, choose the most appropriate usage to fill in the blank:

The soaring oil prices, currently trading well above the mark of US $100 per barrel, have become global
concern.

1. the cause off
2. a cause off
3. a cause for

4. with a cause to

Correct Answer :-

e a cause for

4) Out of the following options, choose the most appropriate tense that best fills in to complete the given
sentence:

The trees in my colony down way for the metro.

1. had cut, to make



2. has been cut, to make
3. are cut, making

4, are cut, to make

Correct Answer :-

o are cut, to make

5) Out of the following options, choose the correct form of adverb for the given sentence:
I ate my lunch

1. with a reverence
2. hurriedly
3. goodly

4. in an hurry

Correct Answer :-

e hurriedly

6) Out of the following options, choose the correct form of verb that is in agreement with the subject for the
given sentence:

Evidence__ that there were never more than eight dwellings.
1. is suggest

2. are suggested

3. suggest

4, suggests

Correct Answer :-
« suggests

7) Out of the following four options, choose the incorrect sentence:
1. You are partly right in your assessment, but you are also wrong on one account.
2. Soldiers in forward areas using camouflage to prevent being seen while on a mission.

3. Is it possible for you to oversee the presentation that these employees are working on?
4. We are pleased to announce that we are scheduling a workshop on December 22" afternoon.

Correct Answer :-

» Soldiers in forward areas using camouflage to prevent being seen while on a mission.



8) Arrange the sentences P, Q, R and S to form a logical sequence between sentences 1 and 6.

1. Advertisements are designed to persuade.

P. They have discovered that a man's hidden desire to possess leads him to buy things.

Q. In this case, the packet, they have found, often influences buyers more than the contents.

R. In the last few years, persuasive techniques have become more and more effective, thanks in part to
psychologists who have analyzed the motives and tested the reactions of thousand of shoppers.

S. In one study, they found that people who subconsciously feel they should clean their teeth more often, fall for
toothpaste which removes their guilt feelings by promising protection with only one brushing a day.

6. This knowledge and much more, is now in the service of the advertiser.

1. RPSQ
2. PQRS
3. PQSR

4. PRSQ

Correct Answer :-

Topic:- GENERAL KNOWLEDGE

1) Which among the following Fundamental Rights is not available to Aliens? /
Frufafea difte fert & @ o= a1 faeRr & fie Suasy g 82

1. Article 14 / 325G 14

2. Article 19 / 3J55¢ 19

3. Article 20 / 355G 20

4. Article 21 / 3¢ 21

Correct Answer :-

« Article 19 / 3J%5G 19

2) When was the National Register of Citizens (NRC) first prepared? /
APTT AR IRER (AR Ugel IR Hd R fowar ar o1

1. 1950

2. 1951

3. 1949

4. 1947

Correct Answer :-



3) Who is recently appointed as the Director General of National Investigation Agency (NIA)? /
11 51 A AP SATT SHFUBUT (TAIANZY) & FeTHND & w1 # ford Frgea fvar man g2
1. Sunil Arora / {Fﬂa 31@@

2. Y.C. Modi / T8 . Hidl

3. Rajiv Mehrishi / Jod A8y

4. Ashok Lavasa / 3[R0 AdTET

Correct Answer :-

. Y.C. Modi / aTs. ., A}

4) Who among the following was the architect of Madhya Pradesh Vidhan Sabha Bhavan ? /
A YT FALHT Ua & aRgeR Fafaf@a d Qb &2

1. Piloo Mody / Dﬁqiﬂ'cﬁ

2. Laurie Baker / T3} 9B

3. Charles Correa / AT @Il
4. Eugene Pandala / ?F'ﬂ:f PRI

Correct Answer :-

o Charles Correa / matfﬁﬁfm

5) _ was the first dam to be built on the Chambal river in Madhya Pradesh. /
g uew § 99d 4] R ST 1T Ul i AT

1. Gandhi Sagar Dam / et TR 9y

2. The Kota Barrage / CARKCES]

3. The Rana Pratap Sagar Dam / 0T UdTU &7

4, The Jawahar Sagar Dam / SId[gX HIR qiY

Correct Answer :-

« Gandhi Sagar Dam / M IR Sy

6) The Initiative launched by MP Government for the effective resolution of Public Grievances is /



Al RIBTad & YT FARTHR0T & oIt A9 UG TRPR gRT = &l g Ugd gl

1. EOW Online / $38&g 3T

2. GRS Online / STI3RTY 3T
3. ePSC / SUITTEY

4. Samadhan Online /HTYTT 3T\|’7'|T’|'|3:f

Correct Answer :-

« Samadhan Online /HTYTT 3T\|’7'|T’|'|3:f

7) The Gharial is listed as in the IUCN Red List. /
AT aTe gt § ufSara &t & U galas fParman g
1. Critically Endangered Species / IR JheIkd gornadl

2. Threatened Species / ﬁ?ﬁlﬂ:ﬂ@ g1 Yove YSTTierd]
3. Vulnerable Species / Hﬁ?@k_‘[ PEIIR]
4. Least Concerned / T cHdd gatifert

Correct Answer :-

« Critically Endangered Species / R Hh eI Fortaal

8) The Lotus Temple is a place of worship for which faith? /

fra uv & forg wwe AR (wliew True) ol &1 0o e 82
1. Judaism / Tgal &

2. Jainism / S 4o

3. Zoroastrianism / TIRYT &

4. Bahai / GT8

Correct Answer :-

o Bahai/ aB'Ié

9) The Madhya Pradesh Griha Nirman Mandal Adiniyam Act was enacted by the MP Legislature in the
year /

ueg weR g fwfur dea eiftiFfau sl ad | & wogudw faumvisa gr1 siftf=rafira forar man umi

1. 1956



2. 1973
3.1972
4. 1962

Correct Answer :-

« 1973

10) Which of the following institution regulates Real Estate Infrastructure Investment Trusts (REITs) /
Frafaf@a & 3 o a1 Jwr R e ShReaR 3aveiic ove (RIS #1 Rifrafta swar 2
1. NABARD / AIT€TS

2. NAFED / 95S

3. RBI / YR Rod o6

4. SEBI / &it

Correct Answer :-

. SEBI/3&l

Topic:- GENERAL REASONING

1) The below series uses a sequence of alphabets and,numbers. Identify the incorrect combination: /
= €t 15 e sreRY ud GBsHl BT S H WART Bl 8 | Ted |ae uga |

(i) MU12HE78WE

(ii) MU12HE78WE

(iii) MU12HE73WE

(iv) MU12HE78WE

4. iii

Correct Answer :-



There are 13 students in a Physics class and 27 students in a Biology class. Find the number of students
who are either in a Physics class or in a Biology class, if the two classes meet at different hours and 7
students are enrolled in both courses. /

WPl & Fam A 13 B § 3R S a3 &1 Fen # 27 3= 21 S 3 Feme fafyw vel A fiadt & ok =1
UTSUHHI A 7 BT AP &, df DI B H&AT J1d HIfoE St a1 ot Wfae) & wam & € a1 af Shafag= $1 war &
gl

1. 31
2.32
3.37
4.33

Correct Answer :-

« 33

3) IfA=1,PAT =37, then TAP =?/
gfleA=1,PAT =37, A TAP = ?

1. 36

2. 37

3.28

4.73

Correct Answer :-

« 37

4) Find the missing number: / & TG JTd Be:
10, 100, 200, 310, _

1.410

2.400

3.420

4.430

Correct Answer :-

« 430

5) Find the average. / 3 d Id G



78,74,95,75,78 & 74
1.52
2.79
3. 82
4. 62

Correct Answer :-

e 79

6) Which one of the following four addresses is NOT EXACTLY same as the one given
below? /

Frafafed oy 10 ar ual # & - i3 ™ ud & St qu= o w1 ve T 82
Crafty Clicks

St Andrew's House,

Maidenhead, SL6 1QZ

United Kingdom

+44 (0) 1628 201254

(i) Crafty Clicks

St Andrew's House,
Maidenhead, SL6 1QZ
United Kingdom

+44 (0) 1628 201254

(ii) Crafty Clicks

St Andrew's House,
Maidenhead, SL6 1QZ
United Kingdom

+44 (0) 1628 201254

(iii) Crafty Clicks

St Andrew's House,



Maidenhead, SL6 1QZ
United Kingdam

+44 (0) 1623 201254

(iv) Crafty Clicks

St Andrew's House,
Maidenhead, SL6 1QZ
United Kingdom

+44 (0) 1628 201254

4, iii

Correct Answer :-

7) Suresh can do a piece of work in 20 days and Dilip can do the same work in 30 days. How long will they take
if both of them work together? /

IR TP HTH & Th YR D1 20 fa1 o B Javan 3 iR feehtu 3 o1 31 30 i A e awar 81 afe
9 QY TP TTY HTH 4 & a1 I8 fPa-T 0T T2

1. 10 days / 10%‘4
2. 12 days/ 12 faA
3. 16 days / 16 faA
4,14 days/ 14 faa

Correct Answer :-

. 12days/ 12T

Topic:- PEDAGOGY

1) Whom among the following is described as ‘Father of psychoanalysis’? /

fafafaa 7 3 e wafazauur & fUar & v & gfvfa fear mar 22



1. Sigmund Freud / RATHE IS

2. Erick H. Ericson / W Ud. Qﬁﬂ’\q:f
3. Abraham Maslow / 3{dllgH ﬂw‘f

4, Jean Piaget / GI\TJEI'I@[

Correct Answer :-

« Sigmund Freud / R wras

2) At authoritarian level, teaching is: / SMfUBTNG TR R, Rreror A=t g %:
1. Headmaster-centered / T S&UH-Pbigd

2. Parent-centered / THHTAH dhiad

3. Teacher-centered / RI&®-bf5d

4. Child-centered / STdl-dbfad

Correct Answer :-

« Teacher-centered / Rrerp-pisd

3) What term is assigned to rules of language concerning how to.use language effectively in context? /

<t gt & wrar &1 TUTE G [ IUTHT HRH b ailD & a1 W HI P I B 1 HT AT 82
1. Phonology / BIHIQISI

2. Morphology / AT TSt

3. Syntax / ficag

4. Pragmatics / UHfcH

Correct Answer :-

« Pragmatics / yafed

4) Micro-teaching is a . ﬁ'ﬂ-ﬁT&WT (Fl'lgﬁﬁ-ﬂﬁm') Udh %I
1. teacher training technique / fRrefeb UfRreror dab-ien!

2. teaching method / fR1&01 Tgfd

3. problem solving method / HHYT HHTYUTT fafer

4. psycho social development / AT JrAToIS faer™

Correct Answer :-



« teacher training technique / TR1&{h TRI&TUT dh-Ih!

5) The number of independent variables in a research design should be: /
TP Y fEomg # wds R $ T= g =ifee:

1. Two only/ma

2. As much as the design permits AR CACSIES] ﬂa’qﬁ gl

3. No limit / TS ITAT g1

4, Only one /%b_(ﬁ‘[ Tdh

Correct Answer :-

« As much as the design permits ASGEIEIREACSIES &HﬁlﬁfaﬂT%I

6) To interpret a raw score obtained on a test, it is essential to: /

TSP U107 § YT §U YT THS (I TPIR) B ARSI H1 & folE, T8 3Maa &:
1. Consult a statistician. / U W‘@Iﬁﬁ?{ ) W‘H’Qf o

2. Convert the scores into standard deviations. / UTdich] i % faea H Uﬁﬂﬁﬁ |

3. Convert the scores into standard scores. / TG &I AT, 3! H aRkafdd H1|

4, Convey them as they are obtained. / G% 3@ é)[ TR H aﬁ a I gd % |

Correct Answer :-

« Convert the scores into standard scores. / UTCdih! ol HTF® bl § Uﬁﬂ'ﬁ?‘f |

7) Educational surveys use which of the following techniques? /

Qe aderor Frefafeaa 7 3 fod ao-te o1 ITahT ovd 82
1. Case study / Y AT WR@)
2. Clinical research / TaTHa STHUH

3. Interview / HI&TPR
4, Experimental method / UrifTes fafdr

Correct Answer :-

o Interview / HI&Th R

8) Among methods of data collection, the experimental method is more reliable because: /



STTJUSYI &l QI H ¥, WHAIRTE A1 3M1Ud [dRa9-1d &, Hildb:

1. The results obtained through experimental method are universally applicable. /
UrdifiTes fafY o A1eaH A Ured g1 arel o, dfyjes w0 3 TS 81 8|

2. The experimental situation can be replicated. /
e fRufT &t ufdefa a8 STt 8 1

3. The individual’s thoughts and feelings have no value to the topic under study. /
31T T ST a1 fawa & o aafad & faami @ wramsf &1 &1s Jed 1ol o |

4. It provides deeper insight into the understanding of the individual. /

g e &) g B ST 3id:=fP UaH B g

Correct Answer :-

« The experimental situation can be replicated. /

e fRUfT &t ufdefa a8 STt 8 1

9) Which of the following does not belong to instructional technology? /
fr=fafad & @ @ e et | Fafta 78t 22

1. T group Method / T {Hg fafer

2. CAI/CAL / HiT3{IgRfuTs

3. Programmed instruction / HHIGIRIT G@QT

4. Media and printing equipment / Hif&ar ud fiifdT Iusmu

Correct Answer :-

T group Method / T HHg fafer

10) Which of the following sequence reflects the correct experiential learning process, as described by
Kolb? /

fFrefafea o Q 19 91 oy Sied gRT Swifad Tt WA sreaa ufshar &t ufafafad sarg?
1. Applying, generalizing, experiencing, processing / G‘Iil;lzﬁ'r[, TR, S{JHd, Yh HUT
2. Processing, experiencing, generalizing, applying / Ush HUI, 3{{Hd, W, &IHEI@I"T
3. Generalizing, experiencing, processing, applying / HHRIHR, S{JHd, Yh HUT, 3@:@11

4. Experiencing, processing, generalizing, applying / JHd, UhHU, TR, G‘I_j'l;lth"'[

Correct Answer :-



« Experiencing, processing, generalizing, applying / 3{JHd, UhHUI, HTHTATR T,

11) Which theory gives major importance to childhood experiences in development of personality? /
&1 91 Rigid aafekia & e § aedsTa & Syal &) T Agd a1 82

1. Cognitive / GTHTHD @T&ﬂﬁﬂ)

2. Ecological / uiRkfRufde @ﬁﬁﬁm

3. Psychodynamic / T W@W&I@

4. Psychosocial / ARG (TTSHIGIRIA)

Correct Answer :-

« Psychodynamic / I (AR ITATHD)

12) Vygotsky emphasized the significance of the role played by which of the following sectors in the child’s
learning? /

qgTMI®! A g & s A A | | ford & grR1 fAurg i Yfrer w ok e
1. Hereditary / 3{TId1RTdh

2. Economical / 3T

3. Physical / Hifd®

4. Social / THTH

Correct Answer :-

« Social / AR

13) How was Francis Galton related to Charles Darwin? They were: /

iR Tieed, ared S1fd< 9 P4 Halta 42 3 2:
1. Not related / ﬁ?{' e '_‘|€f

2. Friends / QI

3. Cousins / TaX J-I'I_sc

4. Brothers / “-ﬂ_it

Correct Answer :-

« Cousins / T ﬂ-I'I_Sc



14) While writing, a child using the whole arm before using the fingers to hold pen or pencil represents: /

feraa wwa fordt o= g1 U1 a1 URya &) uhsA & fore Sniferal & SuaT | ugd 3rvq R g1y o1
IYURT f= &) fAResfUd Sean 8:

1. Neural control / A3 1 fAGA0T

2. Cephalo-Caudal Principle / Ahdl-PI3sd Rigid

3. Specific movement / fafRree Taam
4, Proximo-Distal Principle / TieRTA-fSwed Rgid

Correct Answer :-

 Proximo-Distal Principle / RS d Rgid

15) RTE Act is related to /RS aEdfua gl

1. Right of children to high-quality education / gl Bl Fed-T Ul CISINEAICARIREIR

2. Right of children to free and compulsory education / Sl & ﬁ'f:-‘{l,c'd? Td sifard Rren &1 iR
3. Right towards equality / HHIdI T DR

4. Right to teacher education / 3D fRIEUT BT SHfTDHR

Correct Answer :-

» Right of children to free and compulsory education / | Bl ﬁ‘{j,?m'_ g AR Rreft &1 SHIHR

Topic:- COMMERCE

1) The of business firm is measured by its ability to satisfy its short-term obligations as they
become due: /

FIAABH S D IS SCUBIID gl Bl [T HIA DI &HAT P TR U ATIT ST 8
P 3T T T

1. Profitability / TTHIadr

2. Liquidity / I@

3. Activity / Ffebadl

4. Debt / BTl

Correct Answer :-

« Liquidity / Ta=fe

2) A method for achieving maximum market response from limited marketing resources by reorganizing
differences in the response characteristics of various part of the market is known as /



IR & fafis foal ot ufafearsi ot fa=ivarsh & gayugl &1 g: dfed s diftra fauoe Sary=i |
3firraw areiR ufafshame ure 31 & fore e fafd &t & U § A1 STar gl

1. Market positioning / STSIR 3 Rufa
2. Market targeting / dISIR SESERI
3. Market strategy / STSTR Ul

4. Market segmentation / dISlIR fquTo

Correct Answer :-

o Market segmentation / dIWIIR ICHISE

3) Induction of employees relates to i HHATRAT P W01 A Fafed g1
1. Training programme / UfR1&01 — FHHY

2. Organisational awareness / TSATHSD SRSl
3. Introduction / IR=g
4. Assignment of duties / Fdedl BT TTATYUT

Correct Answer :-

« Introduction / GR=/

4) The Accounting software which can be customized to meet the special requirement of the user is
known as /

T AreddR o SuaiTeat @1 faRiw srazasdar o R w1 & fore s ferd frar i g@ar g, 39
& U H SET ST 2

1. Ready-to-Use /i?ﬁ—@-q\ﬁl
2. Tailored / ¢S

3. Customized / PICHIZTTS
4. Hardware /E@W

Correct Answer :-

o Customized / HICHITSS

5) Debentures are Rs. 3,50,000 and Rs. 4,50,000 in the balance sheet of 2017 and 2018. 1000 of the
debentures of Rs. 100 each were issued at par in 2018 of which 400 debentures were issued to a
supplier for the purchase of a machine. Determine the amount of issue for debentures for the purpose of
funds flow statement./

2017 3R 2018 & 34 =fie A 3,50,000 FUT 3i¥ 4,50,000 TUA HUT U7 (f9R) &1 UAF 100
$UT & 1000 FHUT W3 (FSaTx) o1 2018 & 90 gou R WY fovar ar o1, foraw 400 51 w3



(fsdT) &t v w=hA @t WG & g sirgfdaedl 1 SRt fbar war 411 fAfY yarg faavor & yaie=
2 B T (FEa=RY) & fore ot &t it wifr Fruffea «31

1. Rs. 1,00,000 / 1,00,000 ¥4
2. Rs. 60,000 / 60,000 »UU
3. Rs. 30,000 / 30,000 »UUY
4. Rs. 40,000 / 40,000 »UU

Correct Answer :-

+ Rs. 60,000 /60,000 ¥4g

6) Who is responsible for issuing Accounting Standards in India? /
YRA ¥ G 7S -1 $I F 1T #14 Rier 82
1. Institute of Chartered Accountants of India. / SXIcgC 3T AT s ABIcc 3 Sfadl

2. State Govt. / I TG
3. Reserve Bank of India. / HRdI4 Reld §
4. Central Govt. /%W

Correct Answer :-

- Institute of Chartered Accountants of India. (3% ICIE, $ITHB.IIC 8. 3HPBIIC C AT Sl
7) CANCELLED

The formula for Gravity Model to predict volume of Trade between two countries “i” and “j” is -
Here —
A is a constant term, Tj; is the value of trade between country i and country j,

Yj is country i’s GDP, Y; is country j’s GDP, and Dj; is the distance between the two countries

(“*” implies Multiplication, “/” implies division & “+” implies addition) /

a’rgszﬁ'“i”aﬁ?«j”%?aﬂawaﬁwﬁwﬁwﬂmﬁ%mw&wfm%mmﬁm%
TTQ-??@RW%,TU%QTiGﬁT%Wja7WWWW%,

Y, SWiPIGDP B, Y; 3 HIGDP B, 3R D;; a1l axl p Aa it gl 3

(ST T TN &, </ BT Y g fauTe T 8fik «+» 31 3 Sis B)

LTy=A* Y; *YyDj

2.Tj=A* Y, *Y;*Dy

3. Tij =AX* Yi * (Yj+Dij)



4.Tj=A* Dj *YyY,

Correct Answer :-

. Tij =A* Y; * Yj/Dij

8) Liquidation of company means: / @91 & URTHTYT PT 34 &:
1. Winding up of a company / T &0 &1 JHTY

2. Amalgamation / SHHH

3. Change in memorandum of association / QQHQQQIH & 19 § gRaaH

4, Forming a company / Wmﬁﬁﬂfﬂ

Correct Answer :-

. Winding up of a company / T &0 & JHTY

9) is responsible for authorization access to the database, for coordinating and
monitoring its use, and for acquiring the needed software and hardware resources./

, TIRIP JIFEATR 3N FTSAUR THIY] ) UTd SR+ & 7¢ 3N Hb STAAT 7
Wﬁm%mmwmu—@%ﬁwﬁmﬁm%l

1. End users / U3 o9
2. Application programmers / E@ﬁwm

3. Database designers / Scley I%\ﬂls-ﬂ-lc

4. Database administrator / ScTa Qsiﬁl?ﬂéai

Correct Answer :-

. Database administrator / ScTex QSIﬁI?-R%AEQ

10) involves determining the value of human resources as the present value of
estimated future earnings of employees. /

_ Hdarial 3 g YT $UE & adHH e & &4 W 7T 991 & ged BT
Frufeo s Wi 1

1. Replacement Cost model / TfRITI dTd Hisd
2. Opportunity Cost model / 3d¥R AT Hisd

3. Capitalization of historical costs model 1 UfagTRe T digd &1 Lj\\rinldowl

4. Discounted wages and salaries model / Rt H\rlgé\l 3R I Hisd



Correct Answer :-

. Discounted wages and salaries model / &t H\ﬂgﬂ 3R I Aisd

11) is extra commission allowed over and above the normal when the agent is required
to put in hard work in introducing a new product in the market. /

Wd ISR # Y SIS B U B § Usic Pl Hol HgAd HI1 I ATaHdT gt @ ol JrH=g A Sa1eT
3R 3 fear oA aren sifafvea e MG

1. Del Credere Commission /S $heX HHITH

2. Over-riding Commission / S{fIHTdT HHIRM (SNARRIS ST HHIRM)

3. Extra ordinary Commission / 3fATYRU HHIRH (TaeT TS HHITM)
4. Ordinary Commission / T HHITA (3{TSR1 HHIH)

Correct Answer :-

« Over-riding Commission / fIUTAT HHIRA (STARBST HHITH)

12) are financial instruments which derive their value from their underlying assets or
securities. /

fafta IuwRul & o1 I99% siaf-ifea aRkufral ar wfayfedt & oo Jea ure &vd B
1. Derivatives / Ml
2. Bills of Exchange/ fafeg foa
3. Commercial Paper / ClLISSCRE]
4. Treasury Bill / WSl fad

Correct Answer :-

« Derivatives / dlaT

13) Based on principle business transaction will always be recoded if it can be
expressed in terms of money. /

Rigid SR a91¢9 & YR IR oz Rapis foar e afe 5@ v= & A # oued fovar
T gHaT 2|

1. The Revenue Realization Concept / RSESRC NSRS CRIRI]
2. The Accrual Concept / UlaaH S[aYRUM

3. Going Concern Concept / dlc] UdHTY SIYIRUM

4. Money Measurement Concept / Hxl HIU SHdYRUI



Correct Answer :-

« Money Measurement Concept / &l HIU 3{dYURUI

14) Income tax paid by sale trader is shown in /

ot AR gRT Yo P U smmer w1 AfR@mr AT gl
1. Credited to capital accounts / tj\Tvﬁ CIRIR RS

2. Debited to P&L Account / Ul TS T@ WTd H ¢4

3. Debited to Trading Account / f& &Td T ¢

4. Debited to his Capital Account / &rcrfrtﬁﬁzaﬁﬁ%q

Correct Answer :-

+ Debited to his Capital Account / &mﬁq&ﬁaﬁﬁ%&

15) Interest on own capital is /M@WW gl
1. Notional cost / Sfed TFTd

2. Sunk cost / fatd AR

3. Overhead / SURSGY

4. Part of Prime Cost / U5 <Tdl ] fgedT

Correct Answer :-

. Notional cost / Bfedd AT

16) Under which method of depreciation, a business takes an insurance policy for required
amount to replace the asset when it is worn out? /

Teag N 91 ford faftr & dgd, v orawm, Jufty &t ufawnfia 31 & fore smazas iRy &g atan
giferelt ST & S 98 AT (§PR) g1 ST 22

1. Insurance policy method /aﬂmuﬁﬁrﬁﬁr
2. Straight line method /@fc’?‘lﬁ:{ﬁﬁ[

3. Sinking fund method | Rifd1 g fafdy

4, Annuity method | anffent fafdy

Correct Answer :-

« Insurance policy method /aﬁmuﬁ%ﬁﬁﬁﬁr



17) Which of the following is an example of personal account? /

frafefed # & o1 |1 afenra @ 1 3aEv 82
1. Rent / fa=ran

2. Creditor / 5UTGTdl

3. Furniture / TiraR

4, Machinery/ﬂl’ﬂﬂﬁ

Correct Answer :-

« Creditor / BUIGIdT

18) Which of the financial statement represents the accounting equation? /
S 1 foxita faavor, daie wHiewor 1 ufaffRa sarg?

1. Balance sheet / 909 2fie

2. Profit and loss account / @TH 3R g1 @

3. Cash flow statement / ¢ UdTg faaxur

4, Manufacturing account / fafamfor crar

Correct Answer :-

- Balance sheet / aﬁﬂﬁﬂf

19) Which of the given financial instrument is a contract between two parties to buy or sell a
underlying asset of standardized quantity and quality for a price agreed upon today with
delivery and payment occurring at a specified future date? /

frefafaa ¥ @ o4 a1 faxfta 9, a9 amE iR uras 3t siafHied ufwiufy & e arawm
%?ﬁ;a%:&gamwwaa—q‘u%,aﬁmwﬁfﬁauﬁwﬁ@wﬁwaﬁﬂfﬁﬁ%mum
qe ?

1. Venture Capital Fund / daR &ficd g

2. Option / TR
3. Commodity Pool / SIS gd
4. Futures /Uﬂjlﬁ

Correct Answer :-

« Futures /U:Eljlﬁ



While preparing cash flow statement, Under which of the given activity Payment of long Term
borrowing is recorded? /

guﬂgﬁawmmw,aﬁq@ﬁaniwﬁﬁm%maﬁm%ammwaﬁ
T2

1. It is Ignored in Cash flow statement. / ¢ YaTg [daRur & 38 ToR3iGTSl R a1 T 5|
2. Investing Activity /ﬁa‘-ﬁ‘ﬂ%ﬁ@[

3. Operating Activity / afaraq nifafafe

4, Financing Activity / fa1 aroror fafafe

Correct Answer :-

. Financing Activity / fa ooy mifafafer

21) The financial statements are normally prepared on the assumption that an enterprise is a
going concern and will continue in operation for the foreseeable future is based on which
concept? /

farita gader IWT=IE: W 39 YRUT IR OOR {6 14 § f ue Sem ve a1q suaara § 8k fAee
yfasr & fore Sares SR} 36, fhd sraurRun uR enenfyd 82

1. The Revenue Realization Concept / ToTed UG S{GeRUT
2. The Accrual Concept / Ulga- SfaYRUM

3. Historical Cost Concept / iﬁ%ﬁmwﬁr SIIYRUTT

4. Going Concern Concept / dI¢] UdYTY YR

Correct Answer :-

« Going Concern Concept / dI¢] T S{IYRUI

22) The database store detailed data needed to support the operations of the entire organization
is known as /

YUl W16 & FATe B! Tl B34 & oI ST Sl STaRae® fawgd Se1 &t Gifed HIdi g,
& U H ST ST Bl

1. Information Warehouse Databases /gﬁﬁiﬂaw@?laﬂ
2. Operational databases / IR B N RCTE FS|

-\

3. Management Database / BAoTHe Sc19d

4. End User Databases /TS goR Sclad

Correct Answer :-



« Operational databases / 3TIRRFd Sl

23) The is based on recognition of both cash and credit transactions./

AP 3R BT A Gl B WP U= TUTRA B
1. The Revenue Realization Concept / Jod IR STURUM (Xa-g RAATSHIRA SaeRM)

2. The Accrual Concept / Thad STURUT (YRR SdLRUM)
3. Going Concern Concept / TTe] AT STYRON (TS Hui SHTYRUM)
4. Money Measurement Concept / &l HIU- YR (H‘ﬁﬂ\_;Rﬁ'C’ S{AYRUM)

Correct Answer :-

« The Accrual Concept / Thgd 3RO ( TR SaLRUM)

24) The depreciation account is closed at the end of the year by transfer to the /
i & 3id ¥ qeug™ WTaT HY H RIMFARd $P dg R fear g |

1. general reserve Account / STHTI 3RT&(d Tl

2. fixed asset Account / Hi&d TR WraT

3. profit and loss Account / ofl¥ - FIBESIG]

4. provision for depreciation Account / Hedgld QT P ToIE draer

Correct Answer :-

. profit and loss Account / TTH - BT Il

25) ABC Ltd. has market price of Rs. 300 per share and price earnings ratio is 15. If the face
value of share is 10, then what is the earning per share? /

ABC forfies & ure ufa QR 300 FTUA &1 IR Y4 © 3R Yo FHHTS 3uTd 15 21 TS AR &1
3ifdrd Yo 10 UL B, dt ufe AR FHE F1 82

1. Rs. 45/ 452U
2. Rs. 30 /30 ®?UUl
3.Rs. 20 /20 ®UUl
4. Rs. 50 / 50 ¥4

Correct Answer :-

+ Rs.20/20 %494



26) An integrated set of specialized programmes that are meant to manage the resources of a
computer and also facilitate its operation is called N

FYE S HATYH! BT UG8 HIA 3R 39P Jara b1 AU 591 & fore faiy wrfepal & var
THIHd A B FEI @I g

1. Language processors | ST TTRER
2. System software | Rieq 9igedar
3. Operating system / STRTET Reed

4, Application software / thnleb-‘zl-l e daR

Correct Answer :-

» Operating system / 3R Reew

27) A Ltd maintain Margin of Safety of 37.5% with an overall contribution to sales ratio of 40%.
Its fixed cost amounts to Rs 5 Lakhs. Calculate new margin of safety if sales volume is
increased by 7.5% /

A fafiRs a0% & faspt SrguTa & T ARG & AT 37.5% BT GI&T W1 B §1¢ I@dT 3 | SHBI
frf3ra amTa Ty 5 e T 81 fasst B 9T 7.5% B 9S8 R A% e Aiwn $ qor Y

1. Rs.600000 / 600000 ¥Ud
2. Rs.400000 / 400000 ¥UY
3. Rs.900000 / 900000 ¥UY
4. Rs.350000 / 350000 3T

Correct Answer :-

. Rs.900000 / 900000 ST

28) A firm incurred Rs10,000 to retain the title of a land purchased for business in litigation with
third party Under which category this expense will be reported? /

TR U& & 1Y YheraTsil § ATUR & T TR 18 Y R §F &) 391¢ 7@ & o ve wif =
10,000 U4 @d ¢ Ifrd Juit & agd 59 Td B Ja-1 &I S

1. Capital expenditure /ﬁlﬁﬂm
2. Revenue expenditure / Xs¥dd oY
3. Revenue income / XTS¥d 31T

4. Deferred revenue expenditure /WWW

Correct Answer :-



« Revenue expenditure /XTSI¥dd Y

29) A firm selling price of each bulb is Rs. 200 and variable cost is Rs. 160. The company is also
incurring fixed expenses of Rs. 50,000. Find out the total required sales to be made to earn profit
of Rs. 10,000. /

TP B & gRT TS dod BT fIs! Yo 200 FUT g 3R UG- dRTG 160 $UT g | T1Y 8 HU-
50,000 ¥UT BT frad g W 9871 &3 € 81 10,000 TUT ST ATH UTW HI1 & T raxas oo fawt
RIGE T

1. Rs. 2,40,000 / 2,40,000 SUU

2. Rs. 2,50,000 / 2,50,000 3UT

3. Rs. 2,00,000 / 2,00,000 3UQ

4. Rs. 3,00,000 / 3,00,000 ¥YU

Correct Answer :-

+ Rs. 3,00,000 / 3,00,000 ¥4YUg

30) ABC Itd bought an asset on 1.04.2015 at an original cost of Rs. 2,00,000 and depreciation is
charged @ 10% p.a. at written down value. What will be the depreciation amount for financial
year 2016-17 ?/

ABC faIfids 7 1.04.2015 B 2,00,000 TUY T HE TR U WD FUfR W 3R forfad qea w
YEIgNI 10% Ufaad &1 g2 U= UM fohar s e | foxita atf 2016717 & e Yeusry iy & giiie

1. Rs. 20000 / 20000 ¥YT
2. Rs.15000 / 15000 ¥Ud
3. Rs.18000 / 18000 ¥UU
4. Rs.16000 / 16000 ¥TY

Correct Answer :-

. Rs.18000 / 18000 3UY

31) An amount spent for repairs of machinery for preventive breakdown measure is:/
WIS dHSTST SUN & forg wxi=t ot wvea & forg @ &t 18 af g:

1. Revenue Expenditure / XTe¥d oY

2. Capital Loss /ﬁ?ﬂ%‘lﬁ

3. Capital Expenditure /ﬁ"gyﬁam

4. Deferred revenue / 3TRIRTT ISR



Correct Answer :-

« Revenue Expenditure / XIoid oUg

32) P Ltd purchased a machine on 1st July, 2016 for Rs 8,00,000 and freight and transit
insurance premium paid Rs 25,000 and Rs10,000 respectively. Installation expenses were Rs
40,000 and salvage value after 5 year will be Rs 50,000. Under straight line method for the year
ended 31st March, 2017 the amount of depreciation will be? /

p fafiies A 1 TS, 2016 ! 8,00,000 TUY F TH ARMA WS 3R ATAHTST 3R URIHA Siwr
HifPaw w HHRn: 25,000 FUT 3R 10,000 FUY HT Y fHaT1 RITIAT T 40,000 F9T & 3R 5
T & 916 AP &I 50,000 FUY NI, 31 HIH, 2017 HI THTW a9 & forg Adleft v fafr & aga
e a1 AR gRir?

1. Rs.160000 / 160000 ST
2. Rs.150000 / 150000 ¥
3. Rs.130000 / 130000 ¥UY
4. Rs.123750 / 123750 ¥4

Correct Answer :-

. Rs.123750 /123750 S0

33) Premium paid on redemption of debentureiistaccounted'under which head of cash flow
statement? /

f&dTR a1 BUI-ux & ufte@ W YraH fFe e it # A A @ fPa edt e firu s s &
dagd Tiford faaT Srar 82

1. Not accounted in cash flow statement / ¢} UdTg faavur § oiar -1gt
2. Investing activities / o nfafafemt

3. Operating activities / iR Tifafaferi

4, Financing activities / fa<ita nifafaferai

Correct Answer :-

. Financing activities / fa<itg mfafaferai

34) Cost of abnormal wastage is /
SRATHTY gafd} &Y arTa 3|

1. Not charged at all. /

fSeet wHTRa TEY B 778




2. Charged to the profit & loss account /
Yy SR g1 |rd & guIid &t T8

3. Charged to the product cost /
JAIE AN Y YHIRA &1 5

4, charged partly to the product and partly profit & loss account /
3R TU I IdTE MR 3w T J T 3R g WId UG BT T3

Correct Answer :-

« Charged to the profit & loss account /

Yy SR g1 |rd & guIid &t T8
35) Comparative statements are also known as: /Wﬁawaﬁwwﬁ Wt ST ST 8
1. Vertical analysis / diddd fa=eiyor
2. External analysis / CIRRBEEGERLI
3. Dynamic analysis  TTTcTRAteT fa=aTeToT
4. Horizontal analysis / afast fazamor

Correct Answer :-

. Horizontal analysis / &fcsT fazamsmr

36) Dividend are usually paid as a percentageof __ /
AU AMTAR W & Ufa=d & ®u & Yira f$e o g1
1. Net profit / & TH

2. Authorized Share capital /&ﬁmwtﬁﬁ

3. Paid up capital /Wq\ﬁﬁ

4, Called up capital /ﬂFﬂTI'scq\Trﬂ

Correct Answer :-

« Paid up capital /Uﬁqﬁﬂ

37) XYZ Ltd. has an opening balance of creditor Rs. 40,000, closing balance of creditor Rs.
50,000, payment made in cash is Rs. 85,000 and the discount received is Rs. 2000. The net credit
purchase during the year is: /



XYZ THES & U 40,000 ¥UT HBUIGTAT P URIHD deid, 50,000 SUYT BUIGIAT & 3HdH o, Ahgl |
T TR AT 85,000 FUY 3R WTW Fe 2000 FUT B 1 99 & SR fHad SYR 4 §:

1. Rs. 97,000 / 97,000 ¥YUg
2. Rs. 99,000 / 99,000 »UU
3. Rs. 49,000 / 49,000 »UU
4. Rs. 55,000 / 55,000 »UU

Correct Answer :-

+ Rs. 97,000 /97,000 ¥4YUg

38) A procedure to measure the degree of compliance an organization has with the existing legal obligation
and labor laws is called .

ﬁvﬁra%ﬁsﬁana'aeﬁvmmﬁ%muwwmaﬂew$uﬁnm%waﬂmﬁa

1. Labor Procedures / %I'qm

2. Industrial Relations / WWH

3. Labor Laws / #H pI-{d1

4. HR Audit / TI3R HIfSC (HFd ST T TRI&f0n)

Correct Answer :-

« HR Audit / TI3MR IS¢ (A TG oIxdT TTEON)

39) Your company’s bad debts for the year are R. 4,000. The reserve for bad debts at the beginning of the
year is Rs. 2000. You want to create a reserve of Rs. 3000. What is the additional reserve that you need to
provide in the profit and loss account? /

3MUH HU P 1T 4,000 TUT & =Meg BUI g1 94 & ARY A =N ed FUN BT JIT . 2,000 AUTI 3T
3,000 $UT BT HIY I-E1 918 & | 3TUD! a1H 9 g1 @ A fpa- srfafifad J=a e o3+ g

1. Rs. 3000 / 3000 YU
2. Rs. 1000 / 1000 ¥UU
3. Rs. 9000 / 9000 ®UU

4. Rs. 5000 / 5000 ¥UU

Correct Answer :-

 Rs. 5000 / 5000 ¥UU



40) « is a set of systematic activities carried out by the entire organization to effectively and
efficiently achieve company objectives so as to provide products and services with a level of quality that
satisfies customers, at the appropriate time and price.” /

« W%MﬁWaWwW%W@wmmﬁm
TR &1 Te W9E & R SU W 9 el ¥ SWTE U9 99T e &t o 9 st 3fd 9w
3R G TR IT5] 1 Hge PRl o 1”

1. Industry wide Benchmarking /38! d138 ST
2. Six Sigma / T R
3. Total Quality Management / ¢ JUTa<l USe

4. Total Quality Control / < T[UTAI [GUEL]

Correct Answer :-

« Total Quality Management / ¢ {[UTA] SCHIE]

41) If an HR Manager uses Robert Kaplan’s structured report, supported by proven design methods and
automation tools to track performance of employees, he is using ./

gfe U TSR Ao Iae ded g1 A R &1 3uai &7ar 8, =it & saial & srduesi=
m?mﬁ%mwﬁmaﬁm,ﬁﬁﬁamaﬁﬁmgwﬁgﬁ%ﬁagﬁammw
8T 8-

1. Employee Report/mﬁ){ Rare

2. Balance Score Card / aa{-l IHR BlS

3. Paired Comparison /‘Q[ﬁilﬂ_g’a?[
4, 360 Degree Appraisal / 360 GI'-‘ZTW

Correct Answer :-

» Balance Score Card / 381« THR Gblsc

42) is a set of five worldwide standards that establish requirements for the management of
quality /

s fayamdt Al &1 U Qe g &l et & UdeE & e srazasars s wirfid
FRATG
1. ISO 9000
2. QS-9000

3. Six Sigma / T Rydr
4, Benchmarking / CELIER



Correct Answer :-

« 1SO 9000

43) Depreciation is provided onlyon__ / JcUgIH W_ TR Y foar smar % |
1. Intangible Assets / &Ijzlj BSEI]

2. Fictitious Assets / Hicdd FUfxl

3. Current Assets / IAHIT TUT

4. Fixed Assets / 37ad gl

Correct Answer :-

. Fixed Assets / 3T GHI

44) The quality management practice that considers the experience of others and uses it to search for
highly effective operating procedures is known as: /

T[UTET WEeA 3R Sl goiR1 & YT Pt THSAT § N7 it guTdt siffe uftrarai @t @ie &
T sueT ST HRaT B

1. Globalization / d4TeRUT

2. Quality Circles / TJUlIH d<i
3. Standardization / HTHHIDHRUT
4. Benchmarking ICELIERI]

Correct Answer :-

« Benchmarking ICELIERI

45) EPZs refer to / g'(ﬁﬁ:"f Hﬂﬁh C G %:

1. Extra Processing Zones / 3HfARad TIRHRUT &
2. Extra Promotion Zones / 3{fdiad Yaei &=

3. Export Promotion Zones / faid gadq &=

4. Export Processing Zones / ot TR &

Correct Answer :-

« Export Processing Zones / ot vesRur &3



If Incoming partner brings anything in cash other than his capital contributions then it is termed as
/

gfe 3 are A1t U YoihTd aRIgM & SeaT Adhat A o WA g dizd . wgrwEagl
1. Profits / &Y

2. Capital / Joit

3. Reserves / Xo/d

4. Premium for goodwill / TG & ford Tiffaw

Correct Answer :-

« Premium for goodwill / TG & foT HiftrgH

47) Discount on issue of Debenture is a /

fSdTR 91 BUL-UF TR HRA R Ge T gl

1. Capital Loss to be shown as Goodwill / IR & w9 | = T qTrﬂ GG

2. Capital Loss to be written off oven the tenure of debenture / BUI-UA 1 3G TR @I fl;\_rﬁ ETIE[
3. Capital Loss to be written off from capital Reserve / q\\_rﬁ fast 9§ @me %ﬁ GG

4, Revenue Loss to be charged in the year of issue / SR} ford ST arel 9 | UG IR I

Correct Answer :-

« Capital Loss to be written off oven the tenure of debenture / BUlUA PL3afY TR GRS ﬁllfrﬁ g1

48) The cooperative organization which are set to eliminate middlemen and to ensure a steady supply of
high quality goods at low price are known as /

EPTRI TiTe+ ot foaiferal Y @ #e & I e € ok &0 S 1ud IR 3= [uraT a1 |1 ot
R amgff gRRT s F Reg A HeISar el

1. Farming Cooperatives / Wl TehRT AfHfd

2. Consumers’ Cooperatives / I b W giafa
3. Producers’ Cooperatives / ST JehR! Tifd

4, Housing Cooperatives / SR ITIe

Correct Answer :-

« Consumers’ Cooperatives / I &b W giafa



You are introducing a new car in a segment where there is absolutely no competition and for which you are
sure there is considerable demand. But you have gathered from sources that a competitor of yours is
developing a car in the same segment and may launch it in other 6 to 8 months. Which pricing strategy would
you adopt for your new car? /

3TY TP U o $) HR Al B T8 § el avad A o18 ufawet 78 g iR simue 1 wR1ar @ fr
I9P! ygied At I3t | AP e 3ru= I [ udr Ierar @ fop smuet ue ufawudf St Qe
TP PR B RId &3 81 & ford 6 T 8 AIE A wi< g1 1 YHTGAT 21 31T 371 75 PR & forg 399 A
DI O geT U SroeTE

1. Rapid penetration /Waﬁaﬂ:{
2. Slow skimming/"v?ﬁ]%?&m

3. Rapid skimming/ww

4. Slow penetration /wi‘rﬁﬁ%;m

Correct Answer :-

 Rapid skimming /WW’[

50) What does the amount of quality output for an amount of input mean? /
3¢ B AT & T urawT SMTSeye &Y /AT &1 ST ATy 82

1. Production / 3dIg

2. Productivity / SdIgehdl

3. Sales increase/ﬁﬁﬁﬁ'@
4, Profit making / <IH &I

Correct Answer :-

 Productivity / SdTqddl

51) In marketing phraseology, who are laggards? /ﬁ'lTUH w 'ef, ﬁ'\ﬁ?ﬂ%{ f5a Dl olldl %?
1. Customers who do not need the product but buy it anyway /
d UTE e o8 UG BT 9 781 Bl &, <fdp bR Wi d fobelt =1 fopefl e 4 wrdiad §
2. Customers who buy a new product last after everybody else has done so /
3 e SNt 707 IS, &R foril 3 Wi & TG Wad &
3. Customers who buy imitation products /

3 UTge Sl Thell IS Wilgd &

4, Customers who are lazy /




d Y Il T Bld B

Correct Answer :-

« Customers who buy a new product last after everybody else has done so /

J UEH S 74T IS &R bl & Tiie & dlc @ied &

52) visible and less visible competencies are concepts used to study ./
<2 wd w9 e=iHig erifafs-amant Fa & srara & wged 811 arell sauUrRumg 8-

1. behavioral interviews /

X YIaolg Yl&fTeh R

2. competency-based interviews /
Hr-frale & SR e R

3. set standards for members of a particular profession /
fafRTy U= & Tl & fore MeiRd A

4. the Iceberg Model of Competencies /
HTAAIE-&HATS BT S HiSd

Correct Answer :-

« the Iceberg Model of Competencies /

FHrifalg-emarsti o1 Ege| disd

53) Ventura Kapital, German venture capitalist (VC) expects a high return from its investment in any start-up.
Which of the following does not explain this demand? /

IR Pfued, s FoR Hivefore B i wWid-eru A srum faw @ I fYed &t sruen wad g1
Prafifad § @ o9 91 e 3 7T 31 e T8 SIar 22

1. High returns have been achieved by the VCs investments in the past /

3reltd H Al & o= & 9= e frerar g1 8

2. VCs provide more than money; they also bring in advice, networks and strategic inputs for which they do not
usually charge /

?gﬁﬁﬁwéﬁ%}auwﬁ,Wawwﬁ%ﬂzaﬁlﬁ@w%ﬁémméﬁéwﬁ

3. VCs invest only for controlling stakes in a business, so that they can steer management actively towards
activities that maximise returns /



AR Hdd a9 H &id A d B & 1olT [HaRI HRd 8, ST d Y MG hl ST [GRMH o
Tqohd © oigl I=aad e fiear s

4. None of these / _ir:lﬁ q ﬁ—&c :|—E>p[

Correct Answer :-

« VCs invest only for controlling stakes in a business, so that they can steer management actively towards
activities that maximise returns /

et Fad foomg § gia Frifid e & o g o3a € 9o 3 yeiee iy &) 39 R A & o
Tohd § ol SaaH e fraar

54) The time normally taken in receiving delivery after placing orders with suppliers is known as /

THAR TR MYfddarst &A1Y MR 31 & 916 fSeftast ured s A feram war wwg FETY
ST ST B |

1. Re-order Level / R-3Tex wR

2. Lead time / €11 cIgH

3. Maximum Level / 38y &R
4. Minimum Level / <gIdH X

Correct Answer :-

« Lead time / IS cIgH

55) All of the following are examples of Financial Markets , except: /
o gt forfta eIRY & Sareur &, Rama swd:

1. Banks / §&

2. Foreign Exchange Market / faewr fafma aemR

3. Call Money Market / BT H Hlehe

4. Stock Market / U TOIR

Correct Answer :-

o Banks/ %

56) Financial Markets have an essential economic function of efficient allocation of /
foita ey o & P 3ATde BT TP ATaRTD ATAP ST g1 8

1. Lenders-Savers / BUIGId-3&IXP




2. Capital / Q\Trﬁ
3. Liabilities / STdT3M

4. Securities / Elﬁﬂ-ﬂ%ﬁﬁ

Correct Answer :-

 Capital / Q\Gﬁ

57) The Market Capitalization of a publically listed firm is defined as: /
TS AP FU I PAds BH & IR YoiaRur of 9 S aRyifie fear smar g
1. Market Capitalization = The money brokers charge for selling common stock /

TSR Goileh=UT = HHTI AR S o foIU siihr gRT T 71 8

2. Market Capitalization = Net Sales — Cost of Goods Sold /

SR YSithR Ul = Y[ foisht — fafohd ATet ot @Rt
3. Market Capitalization = The value of intangible assets of a company /

TSR YoiahRun = fodlt Ul &1 3T Sufrl &1 e

4. Market Capitalization = Common Shares Outstanding X Common Share Price /

STSTR YolehRul = FH R IH T X T TR T

Correct Answer :-

» Market Capitalization = Common Shares Outstanding X Common Share Price /

TSR Goiloh= T = HHI VAR FHIT X HH WR eI

58) The three factors that influence consumer behavior are: / SUMIEIT gdeR &1 gHIfad H= ara i
PRSP o

1. Subcultures, Financial Systems, Politico-Legal Environment / SUZRebid, fa<itg Yorrel, Tiifd-brgt
giarul

2. Political, Economic, Social, Technological / W:ﬂm, 3‘”%, W, SERIG]

3. Personal Factors, Product Factors, Promotional Factors / i PRD, IdIq PIRP, UHIRAT PRSB

4. Cultural factor, Social Factors, and Personal Factors / Hi%q?l?lcb PRI, TS PRI, 3R AT HRD

Correct Answer :-

 Cultural factor, Social Factors, and Personal Factors / Hi%q?i?lob DPRD, TTHTIST DPRD, 3R AT HRD



The stage in Product Life Cycle when most of the market has accepted the product, and sales growth start
showing a slowdown, is called ./

IS Sfta TP BT a8 TRVT o9 SATUPIR TSR A IeUTE P WPR H o g1, iR faeet # gfg vt
fe@m @@, SA peTEIg |

1. Decline / fiRTac

2. Origin /E_(‘Tﬁf

3. Growth /ﬁw

4. Maturity / gRgedr

Correct Answer :-

o Maturity / gRgedr

60) The World Trade Organization, international organization which enforces the international trade
rules, has headquarters in which city? /

?gww,em@uwmﬁsm@uwﬁuﬁﬁmm%ﬁ?wﬁmwﬁ
?

1. The Hague, Netherlands / %Tf, 7‘"3?@[3\9

2. Brussels, Belgium / g@lﬂ-l, dfeotaH

3. Paris, France / ﬂﬁﬂ, wig
4. Geneva, Switzerland / fSIIdT, %‘c{aﬁg

Correct Answer :-

. Geneva, Switzerland / fSTaT, RgeoRds

61) The three kind of marketing channels employed by Marketers are: /
fasear (wrdhe) gR1 R @9 yoR & ArdfeT 9949 §:
1. Communication Channel, Distribution Channel, and Service Channel /
IR 7d, faaR0r I, 3R Ja1 o=7d]
2. Communication Channel, Promotion Channel, and Media Channel /
IR T, g e (FRE o), SR Hifsar 9=
3. Promotion Channel, Public Relations Channel, and Media Channels /

4. Servicing Channel, Financial Channel, and Promotion Channel /




Correct Answer :-

o Communication Channel, Distribution Channel, and Service Channel /

IR I, fIaRor 91, 3R a1 <=l

62) The Full Form of Acronym SEBI is / WW SEBI &1 IIUTW %

1. Security and Equity Board of India / YR @&‘ITQH’ 3@2‘1@3‘

2. Speculation and Equity Board of India / HRA 3fchadr Ud sfec! die

3. Speculation and Equilibrium Board of India / YR fehadrol ud {-igﬂ Gl
4. Security and Exchange Board of India / YRA Uﬁf‘ﬁ[ﬁf L] fafma s

Correct Answer :-

« Security and Exchange Board of India / YR Uﬁf‘ﬁ[ﬁf wd fafma s

63) The number of employees reporting to a manager is defined as: /

TP AoR & NUId F3 ara =il o 0 &F 59 &0 J TRyt {5 S 8:
1. Unity of direction /WWWW@W}
2. Unity of command /WWWWW

3. Scalar chain / QTH® el (@TQ‘IT%FD
4. Span of control /ﬁtiam 3afy (\an Wa@ﬂ)

Correct Answer :-

 Span of control /ﬁ'CFIUT 3[afy (@q aﬁvﬁaﬁm

64) There are two types of exchanges in the secondary market for Capital Market Securities: &
/

Yol aeiR wfayfaal & e fgfoas aoR d & 7R & TR §: 3R
1. Phone , Hand-to-Hand / U’ﬂ'r[, SIUI-g1Y

2. Rule Based, Principle Based / T ey, Rigia smamid

3. Organized , Unorganized / @T%_d, 33

4. Over- the-counter, Exchange trading / W—E—W, faf g =R (U S| aﬁ-'ﬂ'f)

Correct Answer :-



 Over- the-counter, Exchange trading / JR-G-PT3cR, [AHY AR (TSl é,\lg‘ )]

65) There are two basic compensation philosophies which lie on the opposite ends of the compensation
continuum. They are -/

H3HTawT Ara & faudta RRi wR Ry« 3 gard) gemaen aromg 813 §:
1. Hour based and Outcome based /H% YT Gﬁ?{tfﬁmﬂ'q YT

2. Entitlement and Performance / IYBR @T ogdglR

3. Fixed and Variable/@R 3‘ﬁ? IR

4. Seniority Based and Market Adjusted /aﬁ'g?ﬂ SMYTRT 3R TR JHG

Correct Answer :-

« Entitlement and Performance / 3‘Iﬁlcbli BﬁT YdelR

66) In Abraham Maslow’s hierarchy of needs theory, there are 5 distinct levels of individual needs. Which
option corresponds to correct levels (in order from low to high) /

SSTEH A1 & ATIRAD AT UGIhH & Rigia H, SAfcriTa sieval & 5 falRw @ 81 o149 a1 faww
T8 WX o A @11 8 (FF 3 9= a@)

1. Physiological, Social, Safety, Esteem, Self-Actualization /

RIS, THITD, JRET, STATH, 30 T efiaor

2. Safety, Physiological, Social, Esteem, Self-Actualization/

TR&T, IR D, FIHTISTR, STETH, ¥ T THRT

3. Physiological, Safety, Social, Esteem, Self-Actualization /
RIS, JR&MT, FHTD, HTETHH, T T HRul

4. Social, Physiological, Safety, Esteem, Self-Actualization /

TS, ARG, JRET, ST, W Tdefido

Correct Answer :-

« Physiological, Safety, Social, Esteem, Self-Actualization /

RN, IR&M, TSI, STETHM, W YI&iHol

67) PEST analysis in a business is used as a method of: /

T a9 § I (figead)) fazavu &) 31 faf & 0 & =T fpar ST 21

1. Organizational analysis / TTGTHD fa=eiyor



2. Customer analysis / ATgh [CEGLLI
3. Environmental analysis / Ui faRars T
4. Market testing / STSIR URI&0T

Correct Answer :-

« Environmental analysis / TgTaRu fa=aIeoT

68) FW Taylor is predominantly known for his work on which of the following perspective of
management? /

Thsy ¢aR gera:-vaeH & fAufafaa o & fea ufttes wr srmm 1 & fore win o 82
1. Humanistic approach / EIECRICIFRE ECAI|

2. Administrative principles / yemAe Rgidl

3. Bureaucratic organizations / PRI TSI

4, Scientific management / aEITW Ude

Correct Answer :-

« Scientific management / aﬂTﬁ? 'CLE]

69) Mentees benefit from reverse mentoring in all'thefollowing ways'except- /
Adw (Mentees) frasd ﬁEﬁ"T, Mentees @TH ¥ fRmferRad ot @W 2y gt il T ATH ST %'-
1. Learning how to engage with Gen Y subordinates /
S dT8 (Gen Y) TR o A1 J&ST WIRGT
2. Being able to bridge their skill gaps /

I cerarafl & Tl Bt A H T

3. Gaining knowledge from the vast experience of mentors /

Tied & IS 3IHT Y T U1 Bl

4. Getting an insight into the consumer preferences of the youth segment /
gar a7l ot Iu et aarrstt & S v we

Correct Answer :-

« Learning how to engage with Gen Y subordinates /

S dT3 (Gen Y) TR o H1Y ST HIRGT



70) What do you understand by acronym WACC? / 3G AIvP Weg WACC @W@) I 319 R

U 872

1. Weighted Average Cost of Capital/ HiRka 3figa q\\_rﬂ HoY

2. Weighted Average Cost of Cash/ ECTAKCIRYIIESG 3 gd ANt

3. Weighted Associated Cost for Corporation / HIURIE B forg wiiva Geiferd @rTd
4, Weighted Associated Compensation Cost / TR gaferd B SICSIRNIMG

Correct Answer :-

« Weighted Average Cost of Capital/ HiRa i d tﬁﬂ HY

71) According to the Hindu Undivided family, who is defined as Karta? /
fRg sifaved g & UR, wdf & ¥ A frd aikufia farar smar 82
1. The junior most inheritor of the membership /

I dl & SWRINYBRT G FAIR

2. The senior most coparcener who manages the joint family business /

Tged URAR o I &l Falierd B aral aiks e-gadd

3. Any member who gains membership by association with senior most member of the HUF /

PIs H eI S HUF & IREdH TS & 1Y g1 HReh a&dl U HRdl &

4. Any male member who gains membership just by birth /

DIt T30 T Sl Had oFH U gl TSIl U bRl §

Correct Answer :-

« The senior most coparcener who manages the joint family business /

Tgad URAR & aHTd HI Tierd HR alal IR J8-9qd®

72) Which of the following is a disadvantage of the matrix management system? /
Frafafeaa o 3 sregg yau= womelt @1 giF w9 W@ 82
1. It creates a conflict of loyalty towards managers. /
g TS B AT & fY TR Iead Xt B
2. Individuals cannot be chosen according to the needs of the project. /
AR TR &1 TReRdl o SR 99 -Tg R Tdhd & |

3. Teams are not dynamic. /

< faid T8 g |




4. It prevents sharing of resources across departments. /
g fQUTT & e BT ATl e 5 |
Correct Answer :-

« It creates a conflict of loyalty towards managers. /

g UaYp! bt N1 P ufa iRty Iad Hal 8

73) Which of the following are(is) Bretton Woods Institution(s)? /

fFrafafea & ¥ 19 @ S gg9 vl §@)?

1. UNICEF and UNCTD / g% 3R U] (g9 Y HMUR R faard gwia)
2. OPEC only / $dd 3{UdH

3. WTO only / dd S&egclaf

4. International Monetary Fund and World Bank / GI?R'T@T{ Hal DY AR fay 9

Correct Answer :-

« International Monetary Fund and World Bank / &I?R'f@'q Hal DI 3R 3y dF

74) Which of the following was founded as “the International Bank for Reconstruction and Development”
in 1944? /

frafafaa & & =19 91 1944 7 g SR fadrae el 96 & w0 wifia far
Y12

1. World Bank/ fa% d&
2. Unemployment Indices / SRIGATRY JAbIh

3. International Monetary Fund (IMF) / Hﬂ?@q Hal EaL| (Gﬂg'Q'qQTI'T)
4. United Nations / TG MY

Correct Answer :-

« World Bank/ Pq"’d %

75) Which of the following shows summary of a company's financial position at a specific date? /

fFafafaa & 3 o149 a1 te i o’ w Bt s 3t foxfta Rufe &1 ariw feamar g2
1. Balance Sheet / oaid fie

2. Profit & Loss Account / @TH 3R g QT

3. Cash Flow Statement / Idbal UaTg faavor


http://www.accounting-world.com/2011/04/aaaa-dhtmltooltipposition-absolutewidth.html

4. Income & Expenditure Account / HTJ 3R Y W1dl

Correct Answer :-

« Balance Sheet/ é@m Tt

76) Which of the following can be defined as a unique capability that creates high value and differentiates
an organization from its competitors? /

Frafafea o 3 53 ve sifgdia emar & wu & uRufia far s aear 8 < S= 4o sl 8 8
ot Tivre 1 S wfeeafRiay & rent w82

1. Core Competency/Hf‘[?ﬂTﬁlT‘lT
2. Human Resources / HFd I8

3. NPS scores /W@W
4. Organization Development/wm

Correct Answer :-

+ Core Competency / Hd IR |

77) Which of the following is not a differentiating characteristic of services? /
fFrafafad & 9 o1 9 Aarsi it v Tves fauar 18i 82

1. Inseparability / ffagrsadn

2. Intangibility / ST

3. Homogeneity / Uch=Udl

4. Perishability / HTRdT

Correct Answer :-

« Homogeneity / Udh=Udl

78) Which of the following is not a form of private sector enterprise? /
fFufeafad & 9 #1991 T PR &1 UIgde e’ I9H 81 82

1. Partnership / URiTeRT

2. Public Sector Unit / HI&WP‘I¢ 333 $°b|'$:

3. Cooperative Society/ SREARESIEI

4. Joint Hindu Family / §gdd fgg URAR

Correct Answer :-


http://www.accounting-world.com/2011/04/aaaa-dhtmltooltipposition-absolutewidth.html

« Public Sector Unit / FTaGI - & Wl_sc

79) Which of the given Accounting Standards deals with property, plant and equipment? /
fT g et e | @ 914 Hufv, W9 R Suwvr § wefta 72

1. Accounting Standard 14 / a1 g 14

2. Accounting Standard 21 / G S 21

3. Accounting Standard 2 / a1 A 2

4, Accounting Standard 10 /@"@T HHP 10

Correct Answer :-

« Accounting Standard 10 / a1 {FD 10

80) Which among the given financial instrument is a money market instrument? /
faw ¢ fawfta ane @ @ ®17 &1 7+t Aide gegie 82

1. Equity Shares / 5’@7‘?{ MR

2. Preference Share / TTUH@ T [TR

3. Debenture / UMUA

4. Treasury Bill / WS faie

Correct Answer :-

« Treasury Bill / @I fordt

81) Objective of mutual funds is to provide diversified investment opportunities to /
TRERS Y BT g =1 o) fasnf@Ea e & sraeR weM s 6:

1. Sole proprietors / Y ¢l orferd

2. Small investors / B¢ o=

3. Partnership firms / TraR! ufas™
4. Public companies / o Huf-ar

Correct Answer :-

« Small investors / B¢ a®]

82) How is customer derived value calculated? /



UTgd gdd oI Pl MUMHET B DI STl 672

1. The customer’s product cost minus the scrap value of the product /

g b IAIG DI ARTA B I IdTG BT ARIY e el B

2. The customer’s product cost minus the cost of manufacturing the product /

g o TG P ARTd H Y IATE 1 IATGH AN Bl U DR
3. Benefits a customer gets from the product minus the customer’s product cost /
fohlt Tg® ! IdTe A e a1 ay & I T8 o Id1G B ARTd gl B

4. Benefits a customer gets from the product minus the cost of manufacturing the product /

fHdt UTe® &I IdIc I fiaH a1 a1y § 9 IdTG & SIS AT BI °gcl B

Correct Answer :-

« Benefits a customer gets from the product minus the customer’s product cost /

ot UTe® &I IdTe I fHaH aa a1y H 9 UI8d & IdIG & ANId gel B

83) Premium on Redemption of Debenture account appearing in the Balance Sheet is a ./
qa-ux (da Y i) A faars 39 ard fFdR @ & ufegA W hiitma e - B

1. Real Account / GIESICEERCIN]]

2. Personal Account / >3 ERUGEEIGI

3. Nominal Account- Expenditure / THHIA QIdl - &g
4, Nominal Account-Income / ATHHA WIdTl - ST

Correct Answer :-

» Personal Account / HfGdiTd Tl

84) While winding up of a company, salaries due to a clerk is preferential for a period not
Exceeding /

U HUI BT JHTYA 811 R, Feleh T BRI Ad I 3(afy & forw iR giar g =i fb I
3fere A 81

1. Two Months / aﬂéﬁ

2. Six Months / B8 HaIH
3. Three Months / GIG| Il@ef

4. Four Months / dIR Ilﬁe[

Correct Answer :-



o Four Months / dIR :|:|g°|€[

85) While preparing Liquidator's Statement of Account in case of assets specifically pledged in favour of
Creditors, any surplus arising from such asset is entered in /

FHUIETT P & A ARy U A qaag Juftral & A & uRIATIS &1 @ faavor 3R &d 999,
o Huf @ I giF ara fh=ft off eifitmig &t A ol fpar Srar 2|

1. Surplus from Securities / Uﬁf’iﬁl’ﬁh ¥ 3Ry
2. Profit and Loss Account / FIT'H—E'Iﬁ T

3. Deficiency Account / @HUT o

4. Securities premium / Wi yfd HifEay

Correct Answer :-

« Surplus from Securities / Ufayfcrdl F eIy

86) “Current Purchasing power Method” relates to which type of Accounting? /

“goAT Y Wfed fAfY 5| yeR & dwie @ d6fta 32
1. Inflation Accounting / Wﬁ [GEEIGeE]

2. Financial Accounting / fa<ita drai

3. Cost Accounting / ¢Il¥Ic SLGICa|

4. Social Accounting / TS gl

Correct Answer :-

« Inflation Accounting / Wﬁ [SEGIEZR]
87) CANCELLED

On 1.04.2015 a machine was purchased for Rs. 1,00,000 and Rs. 50,000 was paid for installation.
Assuming that the rate of depreciation was 10% on Reducing Balance Method, calculate the
amount of depreciation up to 31.03.2018./

1.04.2015 P TH A=A 1,00,000 U # WS A ff 3R 50,000 FUD BT YA IS RITYAT F forg
Mglww@%mﬁwﬁﬁwwﬁam% Y, 31.03.2018 TP YeugTH BI
HTAT B TOFT B |

1. Rs. 12,500/ 12,500 *4YUd
2. Rs. 48,000 / 48,000 »UU
3. Rs. 40,650 / 40,650 »UU



4. Rs. 36,500 / 36,500 ¥4V

Correct Answer :-

+ Rs. 40,650 /40,650 ¥4ug
88) CANCELLED

When an issue of securities is made by an issuer to its shareholders existing as on a particular
date fixed by the issuer, it is called a /

oI wRIEar grRT fAifva fed iy aie & 39% Mg ARURS| &1 SRiwdal grT afayfaat &1
HET ST SI1aT 8, Y 39 HEI AT R

1. Bonus issue / S &I (F119 339)

2. Right issue / IR e (3¢ IY)
3. Private placement / ot &1 fAgfad (Wgde whde)
4. Preferential allotment / ST 3frde (MHRAT SraficHc)

Correct Answer :-

. Right issue / 3fYHR &I (TC 3Y)

89) CANCELLED

is defined as the rate of present valuesof the future cash benefits at the required rate of
return to the initial cash outflow of the investment.’/

@1 A= & IE3ATdL Adg afgaie B aTudl Bt TP G W YA & THg a1y & Tdq=
e $t & & U § ufeuTi fear smar g1

1. Net Present Value Method / T d aadT A fafdy

2. Internal Rate of Return Method / aTa! fafe ot SfidiRe &R
3. Payback Method / Uop fafdy

4. Profitability Index / AHUGd Yadhich

Correct Answer :-

- Profitability Index / ATHYGAT JaHIH

90) CANCELLED

In case of voluntary winding up, the statement prepared by the liquidator showing receipts and
payment of cash is called /



WP GATYH & ATHA H, IHIGT 3R APl & YA Bl I¢@Td € URIHTIA gRT IR [dar 0l
G| CHRSIGIE

1. Liquidator’s final statement of account / ST &1 GRTHTGA 3ifaH faavor

2. Cash book / 9! |TdT (H §F)
3. Cash flow statement / %41 UdTg fdaur

4. Deficiency account / &F{UTET?'IT

Correct Answer :-

« Liquidator’s final statement of account / AT &1 gREHOH $ifad fagvon
91) CANCELLED

R Ltd. purchased building worth Rs.1,20,000 and plant and machinery worth Rs. 1,00,000 from D
Ltd. for an agreed purchase consideration of Rs. 2,00,000 to be satisfied by the issue of 2000,
and 12% debentures of Rs. 100 each. Calculate the amount of capital reserve credited in the
books of R Ltd. /

R fafies A p fafids A 1,20,000 T4 # ffREW 3R 1,00,000 TUA & a7 3 A== 2,00,000
FUT 9T U HeUd Wl fauR & Siavld Ige &ld §¢ 2000 SR} {341, 3k 9d® 100 FUT ara
12% & fedod @ | R ferfires &t foraral & smeféra st yott &t i3 &1 7o &3¢

1. Rs. 10,000 / 10,000 ¥4UT
2. Rs. 30,000 / 30,000 ¥YE
3. Rs. 20,000 / 20,000 YT
4. Rs. 15,000 / 15,000 ¥UUY

Correct Answer :-

« Rs. 20,000 /20,000 Uy

92) CANCELLED

Shareholders generally elect company directors by two types of voting systems. Which are /
TRYRS HTHAR W &l UPR & HAGH YONferal gRT U=t e &1 999 sd 51 3 6:
1. Legal Voting and Bending the rules voting / WW 3R At &1 999 Adem

2. Classified and Unclassified voting / d‘ﬁq)d 3R Gdd‘?lr?d Hd gl

3. Majority voting and cumulative voting / dgHd Hdld @TWW

4. Majority and Minority voting / dgHd 3R TP HdglH

Correct Answer :-



+ Majority voting and cumulative voting / dgHd Hdald R It ddg™
93) CANCELLED

The general pattern of behaviour, shared belief and values that members have in common is known as
./

ngmmwu,wﬁmﬁm%ﬁvqmﬁmﬁ%ﬁww% & =Y H ST
STl

1. Organisation effectiveness /W%UNW&T‘IT

2. Organisation culture / IS % dididry]
3. Organisation matrix/waaﬂsl%
4. Organisation climate / & GG GIERY|

Correct Answer :-

« Organisation culture / I3 % dididry]

94) CANCELLED

Which one of the following is not a measure or dispersion? / Frafafea ® w1 arg ar sorfg LR %?
1. Quartile / IJUT

2. Range / &

3. Standard Deviation / HT-e fdeeH

4. Mean Deviation / 37d pld

Correct Answer :-

* Quartile / aﬂ?‘l'fQT

95) CANCELLED

Which of the following agreements preceded certain international trade rules (enforced by WTQO)? /
Frafafea & & foa angid 9 gd $o sirigia smur faw @ § (9 iR e gR1 an))?
1. NAFTA / THT (STR AR Had AUR THH)

2. NATO / Te] ( ITRI 3fedifed Hfd Wire- )

3. OPEC / 311U (dd Hafad G &l WiTeH

4. GATT / T (fay IR TiTe4

Correct Answer :-



« GATT/7IC (9% IR T3
96) CANCELLED
Which of the following rights is not affected by non-registration of a partnership firm? /
Areierl BH & AR-yeftevor & grRT fAufifEd & @ @19 91 iR yyifad 78 e
1. Right to file a suit arising out of a contract against another member/
fopdlt o Tew & R Sgey ¥ Sdd Je Gof B Bl HABR
2. Right to file a suit arising out of a contract against a third party/
ot TR Uer & RIaTs Sigee ¥ I Ye ol I BT DR
3. Rights to set off claims above Rs. 100/ 100
B0 Y HW Ed] Bl 6 B B SHUDR

4. Power of an official assignee to realize the partnership of an insolvent partner /

U fearferar areft ot TrSieRT 1 Ugary B3 & ot Ues SfYew1Re Jufd-yift &t 2fad

Correct Answer :-

« Power of an official assignee to realize the partnership of an insolvent partner /

Tep fearierar i 1 HIlaRT 1 e D o oY Ueh STeeb1Rep HUfT-Hi 1 Qfckd
97) CANCELLED
In perfect competition, the demand curve of a firmis ./
SuH yfawuyi &, g ufosA St AR S 31
1. Negatively sloped / BUITHD glcd
2. Horizontal / T&ffcrt
3. Positively sloped / YdTHD glcl

4. Vertical / diadd

Correct Answer :-

« Horizontal / T&faet

98) CANCELLED

Buy back of Equity shares will be accounted in which activities of Cash Flow statement? /

sl AT B aruedt TR, Tohe yare faaror #1 few nfafafy 7 wfora gihft



1. Operating Activities / LIRCINE]

2. Not accounted in Cash Flow / Fdha} Uarg  7Iford Hal
3. Investing Activities / IBERRIIGICIRE]

4, Financing Activities / fa<ita wfafaferai

Correct Answer :-

 Financing Activities / fa<ita wfafaferai

99) CANCELLED

The current liabilities are obligations to be settled in period. /
qauE dAeal 3R A fAuerH feu oM & foe gl €1

1. Long / a4

2. Short / 3

3. Indefinite / 3T dRTA
4. Liquidation / gREHO

Correct Answer :-

o Short/ Y

100) CANCELLED

An investor is holding 1000 shares of Right Choice Ltd. The current rate of dividend paid by the company
is Rs 5/- per share. The long term growth rate is expected to be 10% and the expected rate of return is
25 %.The current market price of the share is /

% A% & Uy Wge aisd forfies & 1000 AR T 1 HU gRT YIar fHT T arHiRr @) adue R ufa 1R 5
/- U | Tl Al B g IR 10% 1 3 Ifig 8 MR arudt ot SrgaTHa a¥ 25% 31 AW HT IdH IR

e gl
1. Rs 45.60 / 45.60 30U

2. Rs 25.50/25.50 24U
3. Rs 36.66 / 36.66 ¥UU

4. Rs 50.50 / 50.50 ®UU

Correct Answer :-

+ Rs36.66/36.66 24U



